Answer on Question # 62541 — Chemistry — General Chemistry

Suppose a system receives a “deposit” of 55 J of work from the surroundings and loses a
“withdrawal” of 79 J of heat to the surroundings. What is the magnitude and the sign of AE for this
process?

Solution:
Energy change in this process is as follows:

AE = Ereceived_ Elost =55-79=-24 []]

Therefore, the magnitude of AE is |AE| = 24 []J], and its sign is negative (the energy of the
system has decreased in this process).

Answer:AE = -24 []].
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